

Summary of Bids Received

Project: 9th Street Resurfacing
Section: 16-00111-10-RS
Description: Mill and fill resurfacing
CPMS Pin: B-01234
Let Date: 5/16/2017

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL 60044	Bid Bond	\$656,450.26	-35.56%	-\$362,316.20
Payne & Dolan, Inc.	28435 W. Route 173	Antioch, IL 60002	Bid Bond	\$658,480.71	-35.36%	-\$360,285.75
Engineer's Estimate				\$1,018,766.46		

Design	_____	IDOT(2)	_____	Contract Bidder	_____	PJT then Plan Rack	_____
Finance	_____	Bid Tab File	_____	Resident Eng.	_____	Administrative Assistant	_____
Construction	_____	Project File	_____	Request By Mail	_____	Mgr Capital Programming	_____

Return Bid Tabulation

Project: 9th Street Resurfacing
Section: 16-00111-10-RS
Description: Mill and fill resurfacing
CPMS Pin: B-01234
Let Date: 5/16/2017

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & Dolan, Inc.		Peter Baker & Son Company	
					Unit Price	Extn. Price	Unit Price	Extn. Price	Unit Price	Extn. Price
1	20200100	EARTH EXCAVATION	20.0	CU YD	\$100.00	\$2,000.00	\$100.00	\$2,000.00	\$100.00	\$2,000.00
2	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	37.0	UNIT	\$250.00	\$9,250.00	\$40.00	\$1,480.00	\$343.00	\$12,691.00
3	28000400	PERIMETER EROSION BARRIER	151.0	FOOT	\$5.00	\$755.00	\$5.50	\$830.50	\$5.50	\$830.50
4	35101400	AGGREGATE BASE COURSE, TYPE B	1,604.0	TON	\$30.00	\$48,120.00	\$20.00	\$32,080.00	\$2.50	\$4,010.00
5	40600290	BITUMINOUS MATERIALS (TACK COAT)	21,366.0	POUND	\$0.01	\$213.66	\$0.01	\$213.66	\$0.01	\$213.66
6	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	5.0	TON	\$500.00	\$2,500.00	\$73.00	\$365.00	\$50.00	\$250.00
7	40600535	LEVELING BINDER (HAND METHOD), N70	5.0	TON	\$200.00	\$1,000.00	\$65.50	\$327.50	\$50.00	\$250.00
8	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	400.0	TON	\$70.00	\$28,000.00	\$66.50	\$26,600.00	\$59.25	\$23,700.00
9	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	3,533.0	TON	\$70.00	\$247,310.00	\$61.35	\$216,749.55	\$67.60	\$238,830.80
10	42001300	PROTECTIVE COAT	866.0	SQ YD	\$3.00	\$2,598.00	\$2.00	\$1,732.00	\$2.00	\$1,732.00
11	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	2,554.0	SQ FT	\$6.50	\$16,601.00	\$10.50	\$26,817.00	\$10.50	\$26,817.00
12	42400800	DETECTABLE WARNINGS	356.0	SQ FT	\$40.00	\$14,240.00	\$30.00	\$10,680.00	\$30.00	\$10,680.00
13	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1½"	34,739.0	SQ YD	\$3.50	\$121,586.50	\$1.75	\$60,793.25	\$1.85	\$64,267.15
14	44000200	DRIVEWAY PAVEMENT REMOVAL	3,971.0	SQ YD	\$15.00	\$59,565.00	\$1.95	\$7,743.45	\$10.00	\$39,710.00
15	44000500	COMBINATION CURB AND GUTTER REMOVAL	305.0	FOOT	\$10.00	\$3,050.00	\$15.00	\$4,575.00	\$15.00	\$4,575.00
16	44000600	SIDEWALK REMOVAL	1,777.0	SQ FT	\$3.50	\$6,219.50	\$2.50	\$4,442.50	\$2.50	\$4,442.50
17	44004250	PAVED SHOULDER REMOVAL	4,430.0	SQ YD	\$15.00	\$66,450.00	\$1.55	\$6,866.50	\$1.00	\$4,430.00
18	44201725	CLASS D PATCHES, TYPE I, 7 INCH	168.0	SQ YD	\$40.00	\$6,720.00	\$22.00	\$3,696.00	\$20.00	\$3,360.00

Return Bid Tabulation

Project: 9th Street Resurfacing
Section: 16-00111-10-RS
Description: Mill and fill resurfacing
CPMS Pin: B-01234
Let Date: 5/16/2017

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & Dolan, Inc.		Peter Baker & Son Company	
					Unit Price	Extn. Price	Unit Price	Extn. Price	Unit Price	Extn. Price
19	44201729	CLASS D PATCHES, TYPE II, 7 INCH	252.0	SQ YD	\$40.00	\$10,080.00	\$22.00	\$5,544.00	\$20.00	\$5,040.00
20	44201733	CLASS D PATCHES, TYPE III, 7 INCH	756.0	SQ YD	\$40.00	\$30,240.00	\$22.00	\$16,632.00	\$20.00	\$15,120.00
21	44201735	CLASS D PATCHES, TYPE IV, 7 INCH	504.0	SQ YD	\$40.00	\$20,160.00	\$22.00	\$11,088.00	\$20.00	\$10,080.00
22	48101200	AGGREGATE SHOULDERS, TYPE B	427.0	TON	\$40.00	\$17,080.00	\$49.00	\$20,923.00	\$32.60	\$13,920.20
23	56109210	WATER VALVES TO BE ADJUSTED	3.0	EACH	\$600.00	\$1,800.00	\$600.00	\$1,800.00	\$200.00	\$600.00
24	60262700	INLETS TO BE RECONSTRUCTED	1.0	EACH	\$1,200.00	\$1,200.00	\$900.00	\$900.00	\$1,880.00	\$1,880.00
25	60300105	FRAMES AND GRATES TO BE ADJUSTED	14.0	EACH	\$600.00	\$8,400.00	\$600.00	\$8,400.00	\$200.00	\$2,800.00
26	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING	305.0	FOOT	\$30.00	\$9,150.00	\$50.00	\$15,250.00	\$50.00	\$15,250.00
27	67100100	MOBILIZATION	1.0	L SUM	\$61,000.00	\$61,000.00	\$55,000.00	\$55,000.00	\$35,170.00	\$35,170.00
28	70300100	SHORT-TERM PAVEMENT MARKING	9,067.0	FOOT	\$0.50	\$4,533.50	\$0.45	\$4,080.15	\$0.01	\$90.67
29	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	399.0	SQ FT	\$2.50	\$997.50	\$0.01	\$3.99	\$0.01	\$3.99
30	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	16,786.0	FOOT	\$0.30	\$5,035.80	\$0.01	\$167.86	\$0.01	\$167.86
31	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	7,040.0	FOOT	\$0.40	\$2,816.00	\$0.01	\$70.40	\$0.01	\$70.40
32	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	983.0	FOOT	\$0.50	\$491.50	\$0.01	\$9.83	\$0.01	\$9.83
33	70300250	TEMPORARY PAVEMENT MARKING - LINE 8"	8,158.0	FOOT	\$0.75	\$6,118.50	\$0.01	\$81.58	\$0.01	\$81.58
34	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	916.0	FOOT	\$1.00	\$916.00	\$0.01	\$9.16	\$0.01	\$9.16
35	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	110.0	FOOT	\$2.00	\$220.00	\$0.01	\$1.10	\$0.01	\$1.10
36	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	2,267.0	FOOT	\$1.00	\$2,267.00	\$0.01	\$22.67	\$0.01	\$22.67

Return Bid Tabulation

Project: 9th Street Resurfacing
Section: 16-00111-10-RS
Description: Mill and fill resurfacing
CPMS Pin: B-01234
Let Date: 5/16/2017

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & Dolan, Inc.		Peter Baker & Son Company	
					Unit Price	Extn'd. Price	Unit Price	Extn'd. Price	Unit Price	Extn'd. Price
37	78000100	THERMOPLASTIC PAVEMENT MARKING LETTERS AND SYMBOLS	189.0	SQ FT	\$5.00	\$945.00	\$4.00	\$756.00	\$5.00	\$945.00
38	78000300	THERMOPLASTIC PAVEMENT MARKING LINE 5"	1,376.0	FOOT	\$1.25	\$1,720.00	\$0.75	\$1,032.00	\$0.65	\$894.40
39	78004100	PREFORMED PLASTIC PAVEMENT MARKING, TYPE C - LETTERS AND SYMBOLS	64.0	SQ FT	\$10.00	\$640.00	\$101.00	\$6,464.00	\$37.00	\$2,368.00
40	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	20.0	EACH	\$12.00	\$240.00	\$5.00	\$100.00	\$15.00	\$300.00
41	88600600	DETECTOR LOOP REPLACEMENT	178.0	FOOT	\$20.00	\$3,560.00	\$16.40	\$2,919.20	\$16.40	\$2,919.20
42	LC400202	SEAL COAT	221.0	SQ YD	\$20.00	\$4,420.00	\$3.00	\$663.00	\$14.55	\$3,215.55
43	LC600200	INSTALL SURVEY MONUMENTS	3.0	EACH	\$600.00	\$1,800.00	\$1,100.00	\$3,300.00	\$855.00	\$2,565.00
44	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	146.0	SQ FT	\$10.00	\$1,460.00	\$5.80	\$846.80	\$12.50	\$1,825.00
45	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	16,786.0	FOOT	\$1.25	\$20,982.50	\$0.95	\$15,946.70	\$0.80	\$13,428.80
46	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	5,664.0	FOOT	\$1.50	\$8,496.00	\$1.20	\$6,796.80	\$1.15	\$6,513.60
47	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	983.0	FOOT	\$2.00	\$1,966.00	\$1.35	\$1,327.05	\$1.65	\$1,621.95
48	LC780024	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 8"	8,158.0	FOOT	\$2.25	\$18,355.50	\$1.80	\$14,684.40	\$1.75	\$14,276.50
49	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	916.0	FOOT	\$5.00	\$4,580.00	\$2.40	\$2,198.40	\$3.85	\$3,526.60
50	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	110.0	FOOT	\$10.00	\$1,100.00	\$6.00	\$660.00	\$12.50	\$1,375.00
51	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$3,000.00	\$9,000.00	\$520.01	\$1,560.03	\$1,000.00	\$3,000.00
52	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$35,600.00	\$35,600.00	\$6,500.00	\$6,500.00	\$11,390.00	\$11,390.00

Return Bid Tabulation

Project: 9th Street Resurfacing
Section: 16-00111-10-RS
Description: Mill and fill resurfacing
CPMS Pin: B-01234
Let Date: 5/16/2017

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & Dolan, Inc.		Peter Baker & Son Company	
					Unit Price	Extn. Price	Unit Price	Extn. Price	Unit Price	Extn. Price
53	XX000856	MAILBOX REMOVAL AND RELOCATION	5.0	EACH	\$200.00	\$1,000.00	\$208.00	\$1,040.00	\$100.00	\$500.00
54	XX003168	WORK ZONE PAVEMENT MARKING REMOVAL, SPECIAL	2,275.0	FOOT	\$1.00	\$2,275.00	\$0.40	\$910.00	\$0.50	\$1,137.50
55	XX006343	SEEDING (COMPLETE)	2,848.0	SQ YD	\$15.00	\$42,720.00	\$5.95	\$16,945.60	\$5.95	\$16,945.60
56	XX206400	MAILBOX POST	5.0	EACH	\$150.00	\$750.00	\$124.80	\$624.00	\$200.00	\$1,000.00
57	Z0018400	DRAINAGE STRUCTURES TO BE ADJUSTED	2.0	EACH	\$750.00	\$1,500.00	\$601.00	\$1,202.00	\$460.00	\$920.00
58	Z0033700	LONGITUDINAL JOINT SEALANT	10,290.0	FOOT	\$2.50	\$25,725.00	\$2.00	\$20,580.00	\$2.20	\$22,638.00
59	Z0062000	SAW CUTTING	3,749.0	FOOT	\$3.00	\$11,247.00	\$0.92	\$3,449.08	\$0.01	\$37.49
Bid Total						\$1,018,766.46		\$658,480.71		\$656,450.26

Return Bid Details

Project: 9th Street Resurfacing
Section: 16-00111-10-RS
Description: Mill and fill resurfacing
CPMS Pin: B-01234
Let Date: 5/16/2017

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
1	20200100	EARTH EXCAVATION	20.0	CU YD	\$100.00	\$2,000.00	\$100.00	\$100.00	\$100.00
2	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	37.0	UNIT	\$250.00	\$9,250.00	\$40.00	\$343.00	\$191.50
3	28000400	PERIMETER EROSION BARRIER	151.0	FOOT	\$5.00	\$755.00	\$5.50	\$5.50	\$5.50
4	35101400	AGGREGATE BASE COURSE, TYPE B	1,604.0	TON	\$30.00	\$48,120.00	\$2.50	\$20.00	\$11.25
5	40600290	BITUMINOUS MATERIALS (TACK COAT)	21,366.0	POUND	\$0.01	\$213.66	\$0.01	\$0.01	\$0.01
6	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	5.0	TON	\$500.00	\$2,500.00	\$50.00	\$73.00	\$61.50
7	40600535	LEVELING BINDER (HAND METHOD), N70	5.0	TON	\$200.00	\$1,000.00	\$50.00	\$65.50	\$57.75
8	40603080	HOT-MIX ASPHALT BINDER COURSE, 19.0, N50	400.0	TON	\$70.00	\$28,000.00	\$59.25	\$66.50	\$62.88
9	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	3,533.0	TON	\$70.00	\$247,310.00	\$61.35	\$67.60	\$64.48
10	42001300	PROTECTIVE COAT	866.0	SQ YD	\$3.00	\$2,598.00	\$2.00	\$2.00	\$2.00
11	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	2,554.0	SQ FT	\$6.50	\$16,601.00	\$10.50	\$10.50	\$10.50
12	42400800	DETECTABLE WARNINGS	356.0	SQ FT	\$40.00	\$14,240.00	\$30.00	\$30.00	\$30.00

Return Bid Details

Project: 9th Street Resurfacing
Section: 16-00111-10-RS
Description: Mill and fill resurfacing
CPMS Pin: B-01234
Let Date: 5/16/2017

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
13	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1½"	34,739.0	SQ YD	\$3.50	\$121,586.50	\$1.75	\$1.85	\$1.80
14	44000200	DRIVEWAY PAVEMENT REMOVAL	3,971.0	SQ YD	\$15.00	\$59,565.00	\$1.95	\$10.00	\$5.98
15	44000500	COMBINATION CURB AND GUTTER REMOVAL	305.0	FOOT	\$10.00	\$3,050.00	\$15.00	\$15.00	\$15.00
16	44000600	SIDEWALK REMOVAL	1,777.0	SQ FT	\$3.50	\$6,219.50	\$2.50	\$2.50	\$2.50
17	44004250	PAVED SHOULDER REMOVAL	4,430.0	SQ YD	\$15.00	\$66,450.00	\$1.00	\$1.55	\$1.28
18	44201725	CLASS D PATCHES, TYPE I, 7 INCH	168.0	SQ YD	\$40.00	\$6,720.00	\$20.00	\$22.00	\$21.00
19	44201729	CLASS D PATCHES, TYPE II, 7 INCH	252.0	SQ YD	\$40.00	\$10,080.00	\$20.00	\$22.00	\$21.00
20	44201733	CLASS D PATCHES, TYPE III, 7 INCH	756.0	SQ YD	\$40.00	\$30,240.00	\$20.00	\$22.00	\$21.00
21	44201735	CLASS D PATCHES, TYPE IV, 7 INCH	504.0	SQ YD	\$40.00	\$20,160.00	\$20.00	\$22.00	\$21.00
22	48101200	AGGREGATE SHOULDERS, TYPE B	427.0	TON	\$40.00	\$17,080.00	\$32.60	\$49.00	\$40.80
23	56109210	WATER VALVES TO BE ADJUSTED	3.0	EACH	\$600.00	\$1,800.00	\$200.00	\$600.00	\$400.00
24	60262700	INLETS TO BE RECONSTRUCTED	1.0	EACH	\$1,200.00	\$1,200.00	\$900.00	\$1,880.00	\$1,390.00
25	60300105	FRAMES AND GRATES TO BE ADJUSTED	14.0	EACH	\$600.00	\$8,400.00	\$200.00	\$600.00	\$400.00
26	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING	305.0	FOOT	\$30.00	\$9,150.00	\$50.00	\$50.00	\$50.00

Return Bid Details

Project: 9th Street Resurfacing
Section: 16-00111-10-RS
Description: Mill and fill resurfacing
CPMS Pin: B-01234
Let Date: 5/16/2017

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
27	67100100	MOBILIZATION	1.0	L SUM	\$61,000.00	\$61,000.00	\$35,170.00	\$55,000.00	\$45,085.00
28	70300100	SHORT-TERM PAVEMENT MARKING	9,067.0	FOOT	\$0.50	\$4,533.50	\$0.01	\$0.45	\$0.23
29	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	399.0	SQ FT	\$2.50	\$997.50	\$0.01	\$0.01	\$0.01
30	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	16,786.0	FOOT	\$0.30	\$5,035.80	\$0.01	\$0.01	\$0.01
31	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	7,040.0	FOOT	\$0.40	\$2,816.00	\$0.01	\$0.01	\$0.01
32	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	983.0	FOOT	\$0.50	\$491.50	\$0.01	\$0.01	\$0.01
33	70300250	TEMPORARY PAVEMENT MARKING - LINE 8"	8,158.0	FOOT	\$0.75	\$6,118.50	\$0.01	\$0.01	\$0.01
34	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	916.0	FOOT	\$1.00	\$916.00	\$0.01	\$0.01	\$0.01
35	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	110.0	FOOT	\$2.00	\$220.00	\$0.01	\$0.01	\$0.01
36	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	2,267.0	FOOT	\$1.00	\$2,267.00	\$0.01	\$0.01	\$0.01
37	78000100	THERMOPLASTIC PAVEMENT MARKING LETTERS AND SYMBOLS	-	189.0 SQ FT	\$5.00	\$945.00	\$4.00	\$5.00	\$4.50

Return Bid Details

Project: 9th Street Resurfacing
Section: 16-00111-10-RS
Description: Mill and fill resurfacing
CPMS Pin: B-01234
Let Date: 5/16/2017

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
38	78000300	THERMOPLASTIC PAVEMENT MARKING LINE 5"	1,376.0	FOOT	\$1.25	\$1,720.00	\$0.65	\$0.75	\$0.70
39	78004100	PREFORMED PLASTIC PAVEMENT MARKING, TYPE C - LETTERS AND SYMBOLS	64.0	SQ FT	\$10.00	\$640.00	\$37.00	\$101.00	\$69.00
40	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	20.0	EACH	\$12.00	\$240.00	\$5.00	\$15.00	\$10.00
41	88600600	DETECTOR LOOP REPLACEMENT	178.0	FOOT	\$20.00	\$3,560.00	\$16.40	\$16.40	\$16.40
42	LC400202	SEAL COAT	221.0	SQ YD	\$20.00	\$4,420.00	\$3.00	\$14.55	\$8.78
43	LC600200	INSTALL SURVEY MONUMENTS	3.0	EACH	\$600.00	\$1,800.00	\$855.00	\$1,100.00	\$977.50
44	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	146.0	SQ FT	\$10.00	\$1,460.00	\$5.80	\$12.50	\$9.15
45	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	16,786.0	FOOT	\$1.25	\$20,982.50	\$0.80	\$0.95	\$0.88
46	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	5,664.0	FOOT	\$1.50	\$8,496.00	\$1.15	\$1.20	\$1.18
47	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	983.0	FOOT	\$2.00	\$1,966.00	\$1.35	\$1.65	\$1.50
48	LC780024	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 8"	8,158.0	FOOT	\$2.25	\$18,355.50	\$1.75	\$1.80	\$1.78

Return Bid Details

Project: 9th Street Resurfacing
Section: 16-00111-10-RS
Description: Mill and fill resurfacing
CPMS Pin: B-01234
Let Date: 5/16/2017

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
49	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	916.0	FOOT	\$5.00	\$4,580.00	\$2.40	\$3.85	\$3.13
50	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	110.0	FOOT	\$10.00	\$1,100.00	\$6.00	\$12.50	\$9.25
51	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$3,000.00	\$9,000.00	\$520.01	\$1,000.00	\$760.01
52	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$35,600.00	\$35,600.00	\$6,500.00	\$11,390.00	\$8,945.00
53	XX000856	MAILBOX REMOVAL AND RELOCATION	5.0	EACH	\$200.00	\$1,000.00	\$100.00	\$208.00	\$154.00
54	XX003168	WORK ZONE PAVEMENT MARKING REMOVAL, SPECIAL	2,275.0	FOOT	\$1.00	\$2,275.00	\$0.40	\$0.50	\$0.45
55	XX006343	SEEDING (COMPLETE)	2,848.0	SQ YD	\$15.00	\$42,720.00	\$5.95	\$5.95	\$5.95
56	XX206400	MAILBOX POST	5.0	EACH	\$150.00	\$750.00	\$124.80	\$200.00	\$162.40
57	Z0018400	DRAINAGE STRUCTURES TO BE ADJUSTED	2.0	EACH	\$750.00	\$1,500.00	\$460.00	\$601.00	\$530.50
58	Z0033700	LONGITUDINAL JOINT SEALANT	10,290.0	FOOT	\$2.50	\$25,725.00	\$2.00	\$2.20	\$2.10
59	Z0062000	SAW CUTTING	3,749.0	FOOT	\$3.00	\$11,247.00	\$0.01	\$0.92	\$0.47
Bid Total					\$1,018,766.46				